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’_—| INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will themself be responsible for fitling wrong
Roll No.

2. At the start of the examination before attempting the
question paper kindly check your test booklet and OMR
Angwer Sheet and ensure that :

+ The serial numbers of test booklet and OMR answer sheet
are same.

¢ Al pages of test booklet and OMR answer sheet are
propeely printed. All questions from 8. No. I to last §_ No.
150 are printed and pages from S. No. 1 to last S. No. 2d are
there in the question bocklet,

In cage of any discrepancy / defect the candidate should

immediately report the matter to the invigilator for replacement

of test booktet and OMR answer sheet, No chaim / objection in
this regard will be entertained after five minutes of start of
examination. Candidate will be Fable for it,

3. Answer all questions,

4. Alf questions carry equal marks.

5. Only one answer is to be given for each question. Ifmore than
one answers are marked, it would be weated as wrong answer,

6. 1/3 part of the mark(s) of cach question will be
deducted for each wrong answer. A wrong answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer.

7. Each question has four alternative responses marked serially
as (A}, (B), (C), (D). You have to darken only one ¢ircle or
bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN,

8. Use of Mobile Phone/Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material found with any candidate,
strict action will be taken against him/her as per rule.

9. Ifthere is any sort of ambiguity/mistake either of printing
or factual nature in Hindi and English Version of the question,
the English Version will be treated as standard.

Waraing : If a candidate is found copying or if any unauthorized

material is found in his’her posséssion, P.LR. would be Jodged

against him/her in the Police Station and he/she would liable to be
prosecuted under Section 3 of the State Prevention of Unfair

Means Act, 1992 and Board Regulations. Board may also debar

hitm/her permanently from all future exdminations of the Board.
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Comprehension Ok

Directions : Read the following passage
carefully and answer the questions given
below : (13 to 17) |

Philosophy of Education is a label applied to
the study of the purpose, process, nature and

: ideals of education. It can be considered a
branch of both philosophy and education.

Education can be defined as the teaching and
learning of specific skills, and the imparting of
knowledge, judgment and wisdom, and is
something broader than the societal institution
of education we often speak of.

Many educationalists consider it a weak and
wootly field, too far removed from the practical
applications of the real world to be useful. But
philosophers dating back to Plato and the
Ancient. Greeks have given the area much
thought and emphasis, and there is little doubt
that their work has helped shape the practice of
education over the millennia,

Plato is the ecarliest important. educational
thinker, and education is an essential element
in “The Republic” (his most important work on
philosophy and political theory, written around
360 B.C). In it, he advocates some rather
extreme methods : removing children from
their mothers’ care and raising them as wards.
of the state, and differentiating children
suitable to the various castes, the highest
receiving the most education, so that they could
act as guardians of the city and care for the less
able. He believed that education should be
holistic, including facts, skills, physical
discipline, music and art. Plato believed that
talent and intelligence is not distributed
genetically and thus is not found in children
born to all classes, although his proposed
system of sélective public education for an
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| educated minority of the populaﬁon does not
; really follow & democratic model.

%Aristotlc considered human nature, habit and
ireason to be equally important forces to be
{cultivated in education, the ultimate aim of
: which should be to produce good and virtuous
 citizens. He proposed that teachers lead their
i students systematically, and that repetition be
‘used as a key tool to develop good habits,
{unlike Socrates’ emphasis on questioning his
listeners 10 bring out their own ideas. He
{ emphasized the balancing of the theoretical and
practical aspects of subjects taught, among
| which he explicitly mentions reading, writing,
imathcmatios, music, physical education,
| literature, history, and a wide range of sciences,

{as well as play, which he also considered

}important.

{During the Medieval period, the idea of

Perennialism was first formulated by St.

Thomas Aquinas in his work “De Magistro”.

] Perennialism holds that one should teach those

{things deemed to be of everlasting importarice -
to all people everywhere, namely principles

Iand reasoning, not just facts (which are apt to

|change over time), and that one should teach

| first about people, not machines or techniques.

] It was originally religious in nature, and it was

|on1y much later that a theory of secular

'perennialism developed.

IDuring the Renaissance, the French skeptic

| Miche! de Montaigne (1533 ~ 1592) was one

iof the first to critically look at education.

t Unusually for his time, Montaigne was willing

jto question the conventional wisdom of the

iperiod, calling into question the whole edifice
;of the educational system, and the implicit
l assumption that university-educated
!philosophers were -necessarily wiser than
"uneducated farm workers, for example.

3 ' [



13.

14.

15.

16.

Why do

What is the difference between the

approaches of Socrates and Aristotle ?

(A) Aristotle felt the need for repetition
to develop good habits in students;
Socrates felt that students need to be
constantly questioned.

(B) Aristotle felt the neced for rote-
learning; Socrates emphasized on

- dialogic leamning,

{C) There was no difference.

(D) Arstotle emphasized on  the
importance of paying attention to
human nature; Socrates emphasized
upon science.

educationists . consider
philosophy a ‘weak and woolly’ field ?

(A) 1t is not practically applicable.

(B) Iis theoretical concepts are easily
understood.
(C) It is irrelevant for education.

(D) None of these

What do you understand by the term

‘Perennialism’, in the context of the

given comprehension passage ?

(A) Tt refers to something which is of
permanent importance,

(B) It refers to something which is quite
unnecessary,

(C) It refers fo something which is
abstract and theoretical.

(D) It refers to something which existed

in the past and no longer exists now.

Were Plato’s beliefs about education
democratic ?

(A) No, not at all.

(B) Yes, it was democratic completely.
(C) Yes, it was democratic partially.
(D) None of these.
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17.

18!

19.

20,

21,

22.

Why did Aquinas propose a model of
education which did not lay much
emphasis on facts 7

(A) Facts are not important.

{B) Facts do not lead to holistic education.
(C) Facts can change with the changing

times.
{D) Facts are frozen in time.

Which part of the sentence has an error ?
He was not considered for promotion
because his performance was not as good

as the other members of the

organizations.

(A) He was not considered for
promotion '

(B) because his performance was not

{C) as good as the other members of the
organizations.

(D) No error

Which part of the sentence has an error 7
Of the three wild beasts in the cage, th]S
one seems the most ferocious.

(A) Ofthe three wild beasts in the cage,

(B) this one seeins -
Ll

(C) the most ferocious. s
(D) No error "
Give Synonym of :

Vituperate

(A) Abuse (B) Appreciate
(C) Copy (D) Encourage
Give Antonym of ;

Reprobate

{A) Elevated (B) Virtuous
(C) Clumsy (D) Lavish

Give meaning of Idiom
At loggerheads

{A) in difficulty

(B) to be at strife

(C) None of these

(D} very happy together
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24,

25.

26.

27.
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* ”* does not help in guarding your
computer against malicious software.,
(A) Windows Firewall

(B) Windows Defender

(C) Browser

(D) Anti-virus software

“ ”mwﬁﬂmm@m
% oo Jgeam W wgmran T weai § |

(A) T wrrata

(B) Tasr fztbet
(C) FE=R] :
(D) AT AiRe

Where is RAM located 7

(A) Mother Board (B) Expansion Board

(C) External Drive (D) None of these .

RAM &gl 7 e B & 7

(A) T HrE (B) THEYA WS

(C) wHHEEE 3T (D) FH A HE A
is directly used to store user’s

data or program.

(A) Folder (B) File

(C) Recyclebin (D) None of these
IS & ST A NATH HY TR HF

S rar s A TgR BT R |

(A) IeE (B) TEET

(©) fonfefm (D) FHARE

What is maximum zoom percentage in
MS-Word ?

wug-a€ § sifusman s wfewa e
Bard ?
(A) 200
(C) 500

(B) 400
(D) None of thesef
aHE

Which of the following is/are cxamplc(s)
of Word Processors ?

(A) Microsoft Word

(B) WordPerfect

(C) Both Microsoft Word and WordPerfect
(D) None of these

%ﬁ;ﬁﬁaﬁqm/ﬁaémm/%m
J& 7

(A) TTEFIFR 43

(B) &€ uthae

(C) wTgEmeTH 9¢ ud 98 Tbae A1

(D) T § #¥E e

|
|
|
|
|
|
|
|
|
|
]

28.

129,

30.

31.

In Microsoft Excel 200? a smgle file or
document is called a *

(A) Workbook (B) Worksheet

(C) Sheet (D) Notebook

WISHIETR T 2007 ¥, T THa BEd
NIPRHFREE 7

(A) TS (B) T

(€) ¥ - (D) RS

Which of the following system softwares
is loaded first into computer memory
when a computer is powered on ?

(A) Device Drivers

(B) Language translators

(C) System Utilities

(D) Operating system

fer 4 8 2 w1 ey ofRam sawe:
HI THIT | A B ], T TH HRK
e P e 2 7 -

(A) feamagEEd  (B) ﬁﬁa;mﬁa
(C) Tomem gfefofem (D) aTatfn foreem

Which of the following is not an example
of solid state storage device 7

(A) DVD ROM

(B} Memory Card

(C) USB Flash Drives

(D) None of these

= % & w1 39 Sraen ®Wie %ﬂ@q
i U IEET A ] 7

A) SrHH. W

(B) #W %1

(€) 3.w@. . =W g

@) FH AT H

Devices, such as monitors and printers,
that connected o the computers are calied
{A) System Devices

(B) Input Devices

{C) Peripheral Devices
(D) None of these

feamzaw, @ &% it o e,

FRRl AR EERE, Faom

(A) Rrgen et (B) e Feamgdst

(C) AT feamdiar (D) ¥ A
a




32.

33.

34.

35.

36.

- the process of finding and correcting

Which of the following is not an input
device ? '

(A) Optical scanner (B} Keyboard

(C) Mousepad (D) Touch pad
e # @ e e Rama i g ¢
(A) fewea & (B) HiEE

(C) m3ads (D) = iE

Which of the following is correct term for

errors in program ?
(A) Debugging
(C) Interpreting

(B) Translating
(D) Compiling

w S § 3w @ aar e e gama Y

s fmudivefmidshad ?

(A) feafm (B) grmfén

(C) Bfén (D) wwTgheim

A megabyte is actually equal to

kilobytes.

T WETSE ST fpeitaTge

FEOE R |

(A) 1000 (B) 1024

(C) 1084 (D) None of these/
T 4 BT A8

Which PowerPoint view displays each
slide of the presentation as a thumbnail
and is useful for rearranging slides ?

(A) Slide Design (B) Slide Sorter
(C) Slide Show (D) Slide Master
B HrUfa-are 7 BReTH ¥ 1% WIRE
%I TP U AR W EA F & wn i
TOIREH ! AR A T 3y 7
(a) wiE o (B) wms ARz
(C) e (D) TS ARA

Which of the following is a point-and- |
draw device ? I
(A) Scanner (B) Printer i
(C) Mouse (D) Keyboard !
Py it & e o - w1 R & 7
(A) T B) = |
(C) wI3d (D) #miré |

6
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37. DTP is a computer abbreviation, it

38,

usually means —

(A) DeskTop Publishing

{B) DeskTop Programming

(C) Digital Type Program

(D) Document Top Publishing

DTP U HT[et HET01 ], FaR T
AR - |

(A) Swper gfsfam

(B) ¥ewera Swunfi
(C) Tefieet ergw sharm )
(D) = 2 wfefein

Which one of the following states has the
largest area under forest cover ?

(A) Arunachal Pradesh

(B) Assam

(C) Himachal Pradesh

(0} Madhya Pradesh

fra & & 29 3 TSy w1 s &

a2 2
(A) AT (B) 1EH
) mEE Ry (D) TR

Which of the following regions has been
classified as “Western Dry Region’ aniong
the 15 Agro-Climatic zones of India ?
(A) North Bihar Dry Region

(B) Rajasthan Dry Region

(C) NEFA Region

(D) West Bengal Dooars

I % 15 - (SN Sewy)
&5 § Fr 3 A Frw 8 W1 TR o
8% % 9 & witga frrmn R 2

(A) 3R fasr s &7

(B) TSTE Y[ &

(C) %I (NEFA) &3

(D) aivem I v
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40.

41.

42,

43.

The climate of Assam is

(A) tropical monsoon

(B} tropical dry

(C) hot desert type of climate
(D) tropical savannah |

ST H T § fse
(A) Iorpfeasfia mrEa
(B) IWIhieata %6

(C) T TS FhR ) STy
(D) IwrRRRLT qarT

Where is Bansagar Hydel Project located ?
{A) Madhya Pradesh

(B) Uttarakhand

(C) Gujarat

(1)) Rajasthan

g el e s m fRE e ¢
(A) W SeTT (B) TGS
(C) I (D) TIEIH

Which mountain range separates the Indo-
Gangetic plains from the Deccan Plateau 7

(A) Vindhyas  (B) Aravalli
(C) Purvanchal {D) Karakoram
Wl T AW o il wor @ v
H el wdd Saett B e R 2

(A) T (B) ATEw

(C) wa (D) IS

Shyok and Nubra valleys are located in
which region of India ?

{A) Kangraregion (B) Ladakh region
{C) Chamba region (D) None of these

|
!
|
|
!
!
|

e 3 P et el g e R § 7
(A) FM@ s (B) e & |
© wmitm (D) wHAREAE |

7
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44.

| 45.

Match List - I (Peaks) with List - II
(Mountain range) and select the correct
answer using the codes given below the
lists

g - 1 () B e - 11 (el ) &

Y gafer ¥ o gt & 1 Re gt
FeThTR -
List-I/geft-1  List-HIagh-11
(Peaks)/(E)  (Mountain Range)/
| (T @)
a. Gurushikhar/ 1. Karakoram/
TERIET HIUHIH

b. Dhupgarh/ 2. Satpura/qdYsT
qae

c. DodaBetta/ 3. Nilgiri/fi@fife
B et

d. Saser Kangri/ 4. Vindhya/faee=
TR FITQ

5. Aravalli/3RrEe!
Codes / 2 :
a b ¢ d
A4 2 3 1
® s 4 1 3
©4 5 2 3
Do s 2 3 1

A Dynamo is a device for converting

(A) electrical énergy into mechanical
energy

(B) mechanical energy into electrical
energy

(C) mechanical energy into speed

(D) None of these

T O i § ahaiia e

(A) frem i =t wifis Sat d
(B) Titrs Tt ! foem ot &
(C) % At ! e &

D) wH FHE T



46.

47.

48.

49.

50.

Which of the following are liquids at room
temperature and standard pressure ?

= 3 @ BN | oE T g Ud S %

FAIHH WA (58) BAE 2.

1. Helium/ 2. Bromine/
Siferam EiLies

3. Mercury/ 4. Chlorine /
TR FAH

Select the correct answer using the code
given below :

9 faw e & IR W I

(A) 2,3,4 ®) 2,3

) 1, 2, 3 (D) All of these /
o

Gastritis affects which part of the human

body ?

(A) Feet (B) Skin

(C) Lungs (D) Stomach

ey (Agmefea) aE v S feg wm

AR HE LR R E

(A) T (B) &&=

(C) B2

How many spinal nerve pairs are there in
humans 7

(D) &

TR i e s AT g T S # ¢
(A) 31 (B) 12

©) 10 (D) 37

What is ‘Mushroom’ ?

(A) Fungus (BY Bacteria
(C) Plant (D) Amimal
AMEA TR ? :

(A) & (B) ity

(C) e (D) wreft

The enzyme in whose presence glucose
and fructose are converted into alcohol is

(A) Invertase (B) Zymase

(C) Maltase (D) None of these
T forereht Iufterfy B Tefehist ud oSl
uehiEe § aRaffa s €, R -

(A) waew (B) gt

(C) T (D) TH & 1§ 7
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51,

52.

153,

DPT wvaccine is administered to prevent
disease like

(A) Dengue, Polio and Tetanus

(B) Diphtheria, Pertussis and Typhoid
(C) Diphtheria, Pertussis and Tetanus
(D) Dengue, Pertussis and Typhoid
B.d.38. Fer g3 Fwifat | a9 & R
R srard -

(A) 7, e wd &oE

(B) fershifen, odftm v arwiss

(C) Teufifen, o wa de@

(D) 1, R o TrRIiEs
Match the following :
e 1 gAY -
a. Nyaya/™H 1. Kanada/®0Mg
b. Vaisheshika/ 2. Shankaracharya/
LI £ MEDIE 1D
¢. Yogasam 3. Gautama/Ttay
d. Vedanta/ 4. Patanjali/
EC T

Select the correct answer using codes
given below ;

&qm@z‘i%mmaﬁmgﬁl
Codes /< :
a b ¢ d
A 3 1 4 2
B 2 3 4 |
© 4 1 2 3
@ 3 4 1 2

Which is the correct chronological order
of the following rulers of slave dynasty
who ruled over Dethi ?

(A) Razia, Nasiruddin, Balban, [ltutmish
(B) Nasiruddin, Balban, Razia, Iltutmish
(C) Iltutmish, Razia, Nasiruddin, Balban
(D) Iltutmish, Balban, Nasiruddin, Razia
forelt W IR @ T} fr= e 9w

NTEeh 1 HIABHIAL T FH BT AT 7
(A) T, nfeed, serm, seqafi
(B) R, arem, o, segaf

(C) woqate, WS, TR, Somd

(D) sEqare, qoed, TieeH, T

164C -

54,

1. 3T Ree S gEm & o o

58.

56.

104C

Consider the following statements :

Akbar sought the friendship and

cooperation of Rajputs :

1. To crush Afghan revolt.

2. To strengthen the foundation of
Mughal Empire in India.

3. To build Ibadatkhana at Fatehpur Sikri
To defeat foreign tribes invading India.

ﬁrqaaﬂaﬁqtﬁan'ﬁ
STERAT TAGHT & wEarT ¢ e Y anan i

2. ¥RE J e wEy 1 e gy
FH F e |

3. worg e i gargaamn & i &
ferg

4. VARG W AR A aret foeh
AT ot B0 % forg |

Which of the above statements are correct ?

Iyl # 9 HF Q eed wE 8 ?

(A) 1,2,4 {(B) 2,3

(C) only/Faa2 (D) None of these/

i A T

The ruins at Hampi brought to light in
1800 by

{A) Colonel Colin Mackenzie

(B) Thomas Hickey

(C) Domingo Paes

(D) Nicolo de Conti

1800 5 &=t = Ty ! forres g0 ST

Gicikio i I
(A) Hd BT TR -

(B) s ey e |
(C) SN iw -

(D) T € Fi=h

The All India Mustim League was f
formed in

e afe g gf&w o A s
. wgkdft
(A) 1902
(C) 1904

(B) 1906 |
(D) 1916

! 87,

58.

59.

What is the correct sequence of the
following events ?

1. Formation of an Interim Government
2. Arrival of the Cabinet Mission

3. Muslim League launches Direct

action

4. Jinnah’s wrecking of the Shimia
Conference

g s e Fawg 7

1. 3aTH GTHR &1 T3

2. hfae foe &1 3

. yfeem sfi gra it sriard

4. = gro fimen aiem &) sute w

(A) 1,3,4,2 (B) 2,4,3,1
(€) 3,2,4,1 (D) 4,2,3,1

With which religion are the Dilwara
temples associated ?

(A) Jainism

(B) Hinduism & Jainism

{C) Hinduism

(D) Buddhism N

feeraTer wiet frg wd A vt & 2

(A) ¥ vd

(B) forg tnl wd S v

(C) g

(D) g

Whe among the following was the
Chairman of Drafting Committee of
Constituent Assembly ? '

(A) Dr. Rajendra Prasad

(B) J.L. Nehru

(C) Dr. B.R. Ambedkar

(D) 1.B. Kripalani

e 8 . wfaw e S e ahife %

FH Y ?
(A) T Tokg T8TE-

(B) 3.TH. &€

(C) & it 3. smEE R
(D) .. Fyar



60. Right to property was omitted from ;62.

61.

Indian Constitution by

(A) 44" Amendment Act

(B) 40" Amendment Act

(C) 86 Amendment Act

(D) 71° Amendment Act

g vedie givam @ a5
it i fm

(A) 443 TRV srffrm

(B) 403 T arffraw E,%g
(C) 863 wsiter arffem

(D) 714 deneA sffeEm

. Match the following :

= w1 Tirms -
President/ TEAfd  Tenure/Hriwre

a. Dr. Zakir Hussain/ 1. 1987-1992
¥, Wit g

b, R. Venkataraman/ 2, 2002-2007

HW. AHEEI

c. Dr. A.P.J. Abdul
Kalam/31. 0.3,

The correct answer is :

TTE:
Codes T

3. 1967-1969

a
A) 1
®) 3
{C)y 2

1

b
2
1
3
(D) 3

b= N Wl
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63.

Given below are two statemernts labelled

-as Assertion (A) and Reason (R). In the

context of the two statements, which of
the foilowing is correct ?

Assertion (A) : InIndia, the Judiciary
is independent of the Executive.

Reason (R) Judiciary favours the
government and helps in the
implementation of its plans.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).
{B) Both (A) and (R} are true, but (R) is
not the correct explanation of {(A).
{C) (A) s true, but (R) is false.
(D) (A)is false, but (R) is true.
#= e Tu 2 T B AFR (A) R
T (R) ¥ w9 # fafga e & | o1
T 5 Hed d, P SR wmwe @ ¢
AVEEE (A) : WA H SRR
TR A TTA R | |
T (R) : SARIYITeh! Gteh 98 oidi 8
HR I AT F wEEA
e T B |
(A) (A)WE (R) SHI e & 3 (R), (A)
o} sure B |
(B) (A) T (R) &1 a1 &, 96 (R),(A)
- HE@ e
©) (A)FFE, TFR) ITAR |
(D) (A) FHTA 2, WG (R) T4 8 |

The Union Council of Ministers is
collectively responsible to

(A) Lok Sabha  (B) Rajya Sabha
(C) President (D) Prime Minister

F 1 Tieg agfEE w8 e i
IR EAT R 7 |
(A) ot aur (B) T=a&W1
© TR (D) yuwE
104C

64.

Poshan Gyan, a nationat digital repository

on health and nutrition was launched by

(A) NITI Aayog :

(B) Ministry of Rural Development

(C) Ministry of Health & Family
Welfare '

(D) Ministry of Home Affairs

9T T4, T O 1w R Py R
YUER TR foma
(A) By MY ﬁ

(B) urdtur faypra waerw 3

(C) e T e s aeE A

65.

66.

104C

(D) BRI

In Indian Constitution Article 338A-
National Commission for Scheduled
Tribes was inserted by

(A) 102™ Amendment Act, 2018

(B) 104™ Amendment Act, 2020

(C) 105™ Amendment Act, 2021

(D) 89" Amendment Act, 2003

WA Wiew 7 o730 338-A - sTyfa
Forfadl & foe T s s
fora -

(A) 1024 s s1ffaam, 2018 g/

(B) 1043 HuivH 31ftrfaam, 2020 g0

(C) 1054 dvivvm arfefm, 2021 gro

(D) 89a weie rftfRm, 2003 /1

Which actress won the National Film
Award for Best Actress for the year 2019 ?

(A) Kangana Ranaut

(B) Alia Bhatt

(C) Taapsee Pannu

(D) Bhumi Pednekar _ |
e % 1 e et 3 2019 % R S
FfHeE w51 T e qoeR S ¢

(A) Fiofa (B) s wg

© TR (D) TR

|
|
|
|
|
|
|
!
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638,

69.

I 70.

67. Which of the following is/are Digital

India Initiatives/Services launched by the
govenment under Digital India Flagship
Scheme ?

{A) Mobile based UMANG services

{B) Direct Benefit Transfer

(C) DigiLockers

(D) All of these

P A a9 m/an  fshea st i
ThIT % e TERT g I ferar e /e eft
Feforee sfe shfifea /aamd 2 7

(A) HIETES TG I dard

(B) STE Sf%Z gigw

(C) T&h wfa

(D) A;ft

As per RBI’s Directions from October 1,
banks will penalise of ¥ per ATM

for non-availability of cash for more than
ten hours in a month. .

SR, F PEUHER, | I A T

T A 28 T T it Tehe i e
F R wafie o 2 T
ST e |

(A) 25,000 (B) 10,000

(C) 15,000 (D) 5,000

The first country among the following to
receive the Indian COVID-19 vaccine is

(A) Brazil (B) South Africa
(C) Maldives (D) Indonesia

= ¥ 2 =l wiE @ wifdR-19 de e
A TGN E ?

(A) Ffia (B) &1 arshiemt

(C) W= (D) SRR

With the joint efforts of the railways of
which countries, regular operation of freight
trains have been resumed through the
restored Haldibari-Chilahati Rail Route ?
(A) India — Myanmar
(B) India — Pakistan
(C) India — Bangladesh
(D) India—Nepal
o5 39 % o % d9gw wWE ¥ 9w
FeETe — femrdt @ et w wemEh
(e &) PP srdfma g ¢
(A) YRT —~ TR (B) ¥R — IIRFEE
(C) YRA — Sy (D) MRA — 4T

o



71.

72.

73.

74.

Who is the Chairman of DRDO ?
(A) C. Vijayakumar

(B) Dr. G. Satheesh Reddy

(C) K. Sivan

(D) None of these

IR AL FAIF e E 7

(A) & erEm (B) 3. . wdfwig
(©) . o (D) T @ w7

Buddhadeb Guha, who recently passed
away, was a noted

(A) Politician (B} Sportperson

(C) Writer (D) Musician
G TE, T FEE 9, e g
@ ° TgEEE e |

(A) TSI (B) fgers

(C) vE@*® (D) wftas

Mariyappan Thangavelu and Sharad Kumar,
who won medals in the Tokyo Paralympics,
are associated with which sports 7

(A) High Jump (B) Javelin Throw
(C) Shooting (D) None of these
ARG UTaE 3T IR T, Forgi St
Fofvifram § e Wia o, frw w9 @
aeif & ¢

(A) F°0 T3 (T 9) "

(B) wTret e (Jarfer o) i

(C) framaarsh

(D) T @ %1 Tl

In which district of Rajasthan, recently
India’s First Emergency Landing facility

(airstrip) on National Highway was

(A) Bikaner (B) Udaipur

(C) Barmer )] Jalpur

i TaEnt Ut AN 6 TAH AT RS
& gl (FR- 7)) S sqmra g
7 o 3% RFa R A gam 2

(A) F=HR
(C) AW

(B) &I

i

I

|

|

|

{78,

!

inaugurated ? |
|

1

|7

|

|

(D) IR !
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PM Modi recently chaired the BRICS
Summit 2021 virtually. The Summit was
which edition of the annual programme ?

o A1 R e 8 A fera weer 2021
6 I T F (JFgreh) e | 98
YT AR FRERA 1 S B G o7 ?
(A) 12 (B) 13
(C) 15 (D) 11

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.

frferfiga sem foft & g0 R A &, 78
36h i W TR Taspeat A o et w3 St
A G

aa_beb _abeee _bea _abe

Choose the correct alternative :

el Torepey w1 9w i
(A) bbab (B) bbaa
(C) aaba (D) abaa

From the pairs of words, you have to
select the pair which is closely related in
the same way as the words of the first pair.
SCISSORS : CLOTH : :

(A) Pen: Paper (B) Fumace Coal
{C) Rock : Stone (D) Razor: Hair

fed 72 wredl & gl A | IO IW T F
=T FAT & Y VYW JH & W& I WG H
forepe & & waifira #

ﬁ:m::
(A) HEH : HOF
(C) =EF : Je

Choose the group of letters which is
different from others.

(B) gt : wigen
(D) I : I

T % 30 WY H T B A AT AR |
(A) MQT (B) HLP
(C) IMQ (D) EIM

Which letter will be 11" to the left of

7™ letter from the right end in English

alphabetical series ?

aﬁﬁﬁmwmﬁaﬁtﬁtﬁﬁam
o orfT AT 1 1o 3T8R S FTET 2

(A) D ®) E
(C) 1 (D) P

104C

Directions (Questions 80 to 82) : Read the
given passage and answer the questions that
follow based on passage ;

Rabies is a disease transmitted to man
and animals through the bite of a rabies-
infected animal, most commonly by dogs. It is
caused by a virus present in the saliva of the
infected animal which gets deposited in the
wound of the bite victim, multiplies and travels
towards brain and spinal cord. if not treated,
about half of such cases develop rabies.
Symptoms of the disease start one to
three months after the bite, Very few laboratory
tests are available for the diagnosis of rabies
in India. Precautionary measures include
prompt washing of the dog bite wound with
soap-and water. The wound is also treated with
cetavion : tincture of iodine or spirit.

g : R aiede # ufge o sa w e
pro)) (80-82) %Wﬂﬁfq :

W w m R S Ee S,
RO Fd & HEA ¥ T G T §
GETE € 8 | I weiia et o R i SnfRm
farero] % grr g & < ifea 3w o S g e
2 31 T e wflvep Ud dEes Y BT
s 8 | af g sl s man A 3| TR %
T 3 HET A W Rl R SR 1 T ®
TETYT HTew & U o o HEH g R A § | 9T
% Ww & Fre & o wga = deied ai
e € | 39 F Wi | §U Hr S 9rE sk
TR | TR U gl Sarn A ke #
AR AR (Cetavion) : T8 3
IRt 1 fémm (aver) & oft R w2

80. Rabies can be transmitted from any !
animal to the other through open cuts and

|
!
|
|
{34
|
|
|
I

wounds.,

(A) Probablytrue (B) Probably false
(C) Definitely true (D) Definitely false
Yo fopelt st e 5 @ 2 w1 6 g

TR T Wt HRa & R
(A) TV TETR | (B) TWEG: TR |
(©) Ffesaadrd | (D) FEmeER)

104C
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81.

82,

83.

The bite of rabies-infected animal to a
healthy animal definitely results in
spread of rabies.

(A) Definitely false (B) Data inadequate

(C) Probably true (D) Definitely true
TS A AR % T =Y TN H
Hrey %1 uiomy Rffeg @ wEle =
UolTa B 8

(A) PfeTa o 8 1 (B) 22 99id |
(C) Tva: wdT g | (D) Rfrsaadi 2

The saliva of the house dogs should be
periodically tested for the detection of
rabies. _ :
(A) Probably true (B) Definitely true
(C) Data inadequate (D) Definitely faise
Wiw 6 vEaE & T e FA F TR H
- T 3 St ot e

(A) 8T Tt | (B) Rivmadi
(C) Smymame | (D) Fifga =@

Simran told Rahul, “That girl is the:
youngest daughter of the brother-in-law

of my friend’s mother”. How is that girl

related to Simran’s friend ?

(A) Niece (B). Aunt
(C) Cousin (D) Nephew

o 3 aga o 7, “ag sl M
%t % Sfion i Ted B 9 |7 58 T

et &) S ¥ Fre v wEfEA R ¢
(A) weEl/a=t  (B) #id
(C) Hhm (D) Wi/ wr=m

If ‘BUS’ is coded as ‘DWU’ how will
you code ‘ROBS’ 7

af} ‘BUS’ #! ‘DWU’ gfea fopar mar 2,
aqt 3™ ‘ROBS’ 1 H2 F91 T3 7

(A) SPDO (B) SPCD

(C) TQCU (D) TQDU



85.

86.

87.
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Mahesh walked 20 metres towards west,
turned left and walked 20 metres, then he
turned right and walked 20 metres and

again turned right and walked 20 metres. -

Now, how far is Mahesh from his starting
point ?

wEY Ui HY HAR 20 Hiz =T, T gEEa

20 WX wen, R a8 g gea 20 Hier

T SR G TR g 20 Hiet =I5 | 9
e T yeart g @ feat g w R
(A) 0mMR  (B) 60 mAR
(C) $0mAfiR (D) 90 mHIR

H, L J, K, L, M and N are sitting in a
circle facing at the centre. L is neighbour
of Hand K, N is not between M and J. M
is to the immediate right of H. I is second
to the left of N.

Which of the following pairs has the
second person sifting immediately to the
left of the first person ?

H, L J, K, L, M 3R N = 4 3R 7@ =
TH AT A IHIMK FREH R L, M
AR I e N T § | M, H S dehre g

FILN®IRgEUR|

e g | & et qoo safts, ord =fts
Fomm A ¥R ¢

(A) LI (B) KL g
(C) Ml (D) HL :

In a row of girls, Pinky is 11™ from the
left and Dinky is 13" from right end.
Seema, who is 2™ to the right of Pinky
and 4% to the left of Dinky. How many

- girls are there in the row ?

FEhRal v Ul o, R o @ 11F R
IR & g e & 1341 % | o, fifhY
sl s ER S adfi g
ufes ® e Rpert erefisat & 1
(A) 30 - (B) 27
©) 29 (D) 28

88. Which one of the given responses would be
a meaningful order of the following words ?

89,

90.

91.

14

s

1. Wood 2. Book
3. Factory 4. Paper
5. Print
fae wedi ah oveiqui s faw my Tl @
BV €10 E 7
| S x| 2, TEI%
3. & 4. =TS
qqu
(A) 1,3,4,5,2 (B) 2,5,1,4,3

(C) 35 13 4’ 23 5 (D) 4’ 2’ 3’ 59 1

Which letter will replace the question

mark (?) in the following design ?

Frefrfea i Ry RaRw@

et e o 7
‘A | C

? E

M G
K|I

(A) O (B) P
©) Q (D) R

Supply the right letters for the Question
Mark (?) :

w7 3% () 3 forw aedft sva s -
XA, 7, DI, GO, JU

(A) VE (B} WE

(C) AE (D) CE

From the pairs of words, you are to select
the pair which is closely related in the
same way as the words of the first palr
NITROGEN : GASEQUS ::
(A) Lead: Pencil
(B) Feather : Wing
(C) Mercury : Liquid
(D) Nitrogen : Oxygen

% P § | SRR 37 TN H
avr-r A1 & S YA I & W] oh e &
e Te dwafte &
g ; e
(A) oie : Ui
(B) T : &
(C) w7 (59)
(D) T ; ATFfSH

104C

92.

93.

94.

93.

Choose the odd one out from the given
alternatives.

few e et 8 @ fmm g
(A) 8,38 (B) 12,4
() 3,13 (D) 10,7

Which letter will be 4™ to the right of
9™ letter from the right end in English
alphabetical series 7

Fursht avimrer Soft 4 28 BRE 99 o %
FREREE I e kR i i

(A) D BV

© G- D) X

Introducing Sunita, Nikita said, “She is the
only daughter of my father’s only
daughter”. How is Nikita related to Sunita ?

(A) Aunt (B) Cousin

(C) Niece {D) None of these
gt w1 aitem s g, Afear 3 w5,
“g W Tora 1 gl A1 i TReNd @
2" | Fifean, g @ frm erR waRa @ ¢
(A) AT (B) i

(C) hw (D) T A% 7l

If ROME is written as MORE, then

" DARE will written as

9.

104C

7Rk ‘ROME’ i forat 91 § ‘MORE”, @t
‘DARE’ %1 fera s ~
s

(A) REED (B) ROAD

(C) RAED (D) RADE

Anil walked 10 km towards North. From
there he turned back and walked 6 km
towards South. Then he walked 3 km
towards East. How far was he from the
starting point ?

(A) 16 km. {B) 5km.

(C) 17 km. (D) 9km.
e I & e 10 Tp.f. =en | 9ET @
a9z {18 yser i 2ftaor & 37 6 .f .
e | 8% §ig 98 [ H1 3R 3 B,
e | 9 Yoot R e feafighiwmean ¢
() 16f6R. @) 57

(C) 17 Fe.1, (D) 9T =t

[97.

S P P U
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98.

99.

In a school, there were five teachers. A
and B were teaching Sanskrit and Maths.
X and .B were teaching Maths and
History. Y and A were teaching Hindi
and Sanskrit. Z and B were teaching
Geography and Spanish.

Which of the following pair was teaching
both Maths and History ?

T T § ofe e 9 | A 3 B T

T iE @ A | X 3K B M@ aw
e wgr & 1 Y 3R A 2= 9o T
Uga ¥ | Z 3R B e aun ARw ugr o |

ot @ a1 gw TR i shere g
g ?

(A) B, X (B) A,B

©) Z,Y (D) B,Y

If ‘rain’ is ‘water’, ‘water’ is ‘road’,
‘road’ 1s ‘cloud’, *cloud’ is ‘sky’, ‘sky’ is
‘sea’ and ‘sea’ is ‘path’, where do
Aeroplanes fly ?

(A) Water (B) Cloud

(C) Path (D} Road

A o & UHD, U R W, R ®
‘w’, "W, % ‘m” GW’ % 6@’
3R “wug & APy, A g HEITA R ?
(A) THt (B) e

(C) =t (D) 7%

Which one of the given responses would
be a meaningful order of the following
words ?

1. Seed 2. Plant

3. Flower 4. Fruit

5. Tree

forer el ot orefet s fg T T B &
| 1 TH B ?

1, 2. dw

3. 9 4. F

5, 9%

(A) 1,2,3,5.4 (B) 2,3,4,1,5
{(C) 1,5,4,2,3 (D) 1,2,5,3,4



100. Select an appropriate nirmber

101.

the question mark (?)

Ty =% (2) % wfaeenfie w0 & R w
7 ]21] 8
17125
121 |23
(A) 14 (B) 16
(C) 22 D) 18
69 - 14x3+2 %
9 x 5 —(5)2 | |
(A) 1.45 (B) 2635
(C) 26.5 (D) 2.65

102,

103,

104.

(C) 1:8

Find the average of all the prime numbers
between 60 and 90. ]
60 3R 90 & wear |t TSy HWEAH!

sea T+ |

(A) 74.71
(C) 76.22

(B) 74.00
(D) 72.55

A bag contains three types of coins
| tupee coins, 50 p coins and 25 p coins
totally 175 coins. If the total value of the
coins of each kind be the same, the total
amount in the bag is

weh I A T yHr F faad R - 1w,

S0%, 25 R F w175 REsd 1aR

STedioh SR % Reeeh 1 e e o A
amAga iR~
(A) 239
©) 275

(B) ¥26

3T @ o A

The radii of two cbnes are in the ratio
2 : 1 and their volumes are equal. Find the
ratio of their heights.

3 wigail Y freweli 1 aguE 2 ¢ 1w
3IqF AEAT HAT § | I Samal w5

T Fa I |
(A) 4:1 B) 2:1
D) 1:4

(D) None of these /
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107,

108,

s, wm—
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106.

oreplace {60 3004 of A's salary is equal to 20% of % 3

of B’s salary. If B’s salary is ¥ 2,400, then
what is A’s salary ?

A T 30% e, Basam%—aam%aa

T 3 WEBsmaaqzmoo a‘maﬂ
FAT L ?

(A) T1,010 (B) 960
(C) ¥ 2,060 (D) None of these /
¥ § &g T8

Asmita invests an amount of ¥ 9,534 at
4% pa. to obtain a total amount of
T 11,442 on simple interest after a certain
period. For how many years did she invest
the amount to obtain the total sum ?

AT ¥ T 9,534 T TR 4 sfawE
yfead 1 A &= X | B fifvae
Toarafl vvETg $9 T 11,442 6 Tl g
w1 % forg Fawn e | 1 of e =
% forq 3a4 fonem aat & fomm g R ¢
(A) 9 years/ﬂ'f (B) 6 years/a§

(C) 8 years/ad (D) 5 years/ad

A sum of ¥ 12,000 deposited: at
compound interest becomes double after
5 years. After 20 years it will become

TG T R HI TR T 12,000 Hrufy
saffamgr @ oA ¥ 1 20 A A AR A
Bl

(A) T 1,40,000
(C) T1,92,000

(B) % 1,96,000
(D) % 1,44,000

If cost of 24 oranges is T 72, then find out
the cost of 120 oranges.

R q HRi T AL 728, R 120 G -

g T i |
(A) T 190 - (B) T360
(C) T182 (D) T 580

104C

109.

110.

111.

112.

A dishonest shopkeeper professes to sell
potatoes at the cost price, but he weighs
950 g, instead of 1 kp. What is the
percentage of profit 7

TH A GHEMRK AT B T e R

= = e wean B, ovg 9% 1 B
& TIF T 950 T e & | o = whawra
E218

(A) 5.44% (B) 6.66%

() 526% (D) 6.06%

By selling an article, Mahesh earned a
profit equal to one-fourth of the price he
bought it, Ifhe sold it for ¥ 375, what was
the cost price ?

0% T I a9, i 1 @i [ F
et F g o e e ) 3f s

38 T 375 % S A, STE qo T T
(A) T312.56 (B) T360.43

(C) ¥300.00 (D) T281.85
3120+26+ 13 x30=7

(A) 240 ~(B) 530 %
(C) 3%0 (D) 510

The perimeter of a rectangular field is

480 m and the ratio between the length
and the breadth is 5 ; 3. The area is

. TR HTHATRR &7 1 AT 480 m § 3%

- {C) 13500 sq.m.

113.

mﬁ@aﬁg@aﬁaﬂamws 381
FEF ATFA B ~
(A) 13501 sqm. (B} 15501 sq.m.

(D) None of these /
W A i T

One litre of water is evaporated from 6
littes of a solution containing 4% of
sugar. The percentage of sugar in the
remaining solution is

4%, S 1E T 6 S T i 4 s e
mﬁaﬁaﬁrw:ﬁgqﬁaﬁa‘mw

 stfersra 8

104C

(A) 3.8%
(C) 5.8%

(B) 4.8%
(D) 1.8%

I

|
|
|
|
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114,

115,

116.

l11':'.

How much is 20% of 1/7 of 15407
1540 % 1/7 91 20% FFa e ¢

(A) 44 (B) 88
(©) 22 (D) None of these /
T A FiE T

If 1 man or 2 women or 3 boys can do a
piece of work it 44 days, then the same
piece of work will be done by 1 man, 1
woman and | boy in

Ife 1 et 7 2 Afgend 4 3 T5F W FA
F fipdt Y 44 Tt o o od €, D ad e
% T w1 1 FAresy, 1 ufden it 1 @ge
w4 —

(A) 20 days/fem o

(B) 24 days/R d

(C) 28 days/fen @i

(D) 34 days/fA &

If the value of 212 + 21b = 1134, what is
the average ofaand b ?

Iqfe 21a + 2bHTHF 1134 3, A a 3 b
%1 3G fraar & ?

(A) 20 ®) 27
(C) 56 (D) None of these /
T & DI T

The dimensions of a cuboid are 7 ¢m,
11 ¢cm and 13 cm. The total surface area is

= H Bmmd 7 em, 11 em 3R

13 em l@wﬂ@ﬂcﬁﬁ%‘
(A) 3110 cm? (B) 622 cm?
(C) 100 cm? (D) 200 cm?
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Direct_ions (Questions 118 to 120) : Read the
following information carefully to answer the
given questions :

A word and number arrangement machine
when given an input line of words and
num}aers, rearranges them following a
particular rule in each step. The following is an
illustration of input and rearrangement.

Input :goal 63 57 home five task 82 17
Step1 : 82 goal 63 57 home five task 17
StepII: 82 fivegoal 63 57 hometask 17
Steplll: 82 five 63 goal 57 hometask 17
StepIV: 82 five 63 goal 57 home 17 task
And Step IV is the last output.

As per the rules followed in the above steps,
find out in each of the following questions the
appropriate step for the given input.
G ore 118 @ 120) : B 1 el w5 T B
g ﬁra%lf@ﬁ@m T HEIT ST P ;

T g T weTt famre mfia 9 s vl we
TGS 1 T Y@ Al & e 77 gl o
3 o Faftree Fram w1 Stgeen w5 5% wratemE
X 5 3 | PRy ok o w1 o sem
Frafafaat

flaw  : goal 63 57 home five task 82 17
JUIF : 82 goal 63 57 home five task 17
HWOrll : 82 fivegoal 63 57 hometask 17

SWIIIT : 82 five 63 goal 57 hometask 17

T IV : 82 five 63 goal 57 home 17 task

119. Step II of an input is :
s am g
67 cat 12 25 dog fight man 42.
Which of the following will be Step V 2
FedasRasmvam ¢
(A) 67 cat 42 dog 25 fight 12 man
(B) 67 cat 42 dog 25 12 fight man
(C) 67 cat 42 dog 12 25 fight man

(D} None of these/FTH @ ®I3 78

120. Step HI of an input is :
81 boat 73 wheel spike dancer 32 59.
How many more steps are required to
complete the rearrangement ?
(A) Three (B) Four
{C) Five (ID) None of thes
W Faw 1w [ 2 - |
81 boat 73 wheel spike dancer 32 59.
G- SR ! i & forg v aik
R0 Y ST R 7
(A) o (B) 9IR

(C) Wi (D) T8 & 3¢ 7

121. “Chhappan Ka Maidan’ is situated at
(A) Between Banswara — Dungarpur
(B) Between Pratapgarh — Banswara
(C) Between Banswara — Kushalgarh
(D) Between Chittorgarh — Pratapgarh

B R AT RAE
(A) dgaTer-gmy % i

A= IV sifem 3o R ) _
3T =it & argaiea farai & agan fer e (B) S Siearg % ot =
3 33 3 Fivwr ¥ Rory Foee =von v (C) wherr-greng 3 i
(D) Taetemg-vamng % e
118. In[;;t s host 15 32 page 43 over
mother 92 i Latri i i
]Whightf’f thg following steps will be the !122. Eb:rﬁfizodtsmct of Rajasthan Saharia
ast but one 7 )
P host 15 ?{2 page 43 over mother 92 %)) gﬁﬁ E[B); JKh;l: o
ToiferRera 59 oifm A e wwr 7R 7 FEf SieT TR & fra R 3 fram
(A) IV (B) VI HER 7 :
(O Vi (D) None of these / (A) EI]TT (B) TS
SRR © % () e
a 18 104C
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123. When was Hanumangarh district formed
from Ganganagar ?
TR | 5TAg B/ =1 139 %9 g0
e
(A) 01.08.94
(C) 18.04.95

(B) 18.04.96
(D) 12.07.94

124. Which of the following Kachhwaha ruler
made Amer his Capital after defeating

Meenas ?
(A) Dulherai (B) Jaisingh
(C) Kokildev (D} Man Singh
A RN U weeE e A HE @l
FUHF T Y A v s 7
(A) T (B) it
(C) wifrerea (D) AHtE

125, Bench of ‘Rajasthan High Court’ is
situated at which of the following place ?

{A) Bikaner (B) Ajmer
{C) Jaipur (D) Jodhpur
T 3= e’ e (39) e
o RRmR 7
(A) SR (B) I :
(C) TR (D) g me
126. Match the following :
Books / 7% Writer / Q8%

a. Hammirayan/ - 1, Badar /49T

b. Virmayan/ — 2. Manchharam
EiLtiEL Sevag /
TOR™ Qa1
¢. Raghunath —~ 3. Bhandau Vyas /
Rupak / Wigs s
TATE §9h
Codes / 92 :
a b ¢
(A3 2 t
B2 1. 3
(C)y3 1.2
o1 2 3

104C

127.

|

ittt Srwbriy e —r—r— T———

19

128.

129,

The Baﬁalion which revolted in
Naseerabad in 1857 was

(A) Bombaylancers

(B) 30" Bengal Native Infantry

(C) Merwara Battalion

(D) 15" Bengal Native Infantry

1857 Ao # forgie o areft werfera
oft

(A) STEead

(B) 303 s Afea ghvedt
(C) WaTE s

(D) 154t Imme Afem ot

In Rajasthan, which of the following
dance is performed by only men ?

(A} Ghumar

(B) Kachchhi Ghodi

(C) Terah Tali

(D) Katthak :

e A, e & w0 1 e A e
TR ® ¢

(A) g
(C) g Tt

(B) H=at et
(D) S0

Which of the folowing pairs is incorrect ?
(A) Arthuna Temple — Barmer

(B) Harshat Mata Temple — Abhaneri,
Dausa

(C) Vibhishan Temple — Kethun, Kota
{ID) Harshnath Temple — Sikar

S LW IR 7

(A) Jrjon Tt - TR

(B) & T 6feT — S, e
(C) Tarfiyor wifeR — Sy, e

(D) T HfeT — et



130.

131.

Organize the following rulers of Chauhan
Dynasty as per the chronological order :
1. Prithviraj IT1 2. Ajayraj
3. Amoraj 4. Vigraharaj IV
Hgw woEw F foafafes wast
. HITHATTAR Safeya HIf :
L TSI 20 I
3. VW 4. TV
Code /%2 :
(A) ,3,2,4 - (B) 1, 4,23
©) 2,3,4,1 (D) 2 3, 1,4
Match the following ;-
List-1 List-T1
a. Kumbhalgarh Wild Life 1. Sariska
Sanctuary
b. Keoladeo National Park 2. Jaisalmer
c. Desert National Park 3 Bharatpur
d. Tiger Reserve Rajsamand
Frifea =t gakm Fifve -
-1 gft-II
a. HOTATE I Ve SVEROT 1, AREH
b. FIAI TE FaH 2. SR
c. TE U 3T ' 3. WER
d. mm 4. W
Codes /%< : _
a b ¢ @
A4 3 2 1
1 4 2 3
<1 2 3 4
™3 1 2 4

132.
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The Chairman of the Rajasthan Public
Service Commission can be suspended
bythe:

(A) Chief Justice of Rajasthan High Court
(B) Chief Minister of Rajasthan

(C) Governor of Rajasthan

(D) None of these

T W A9 AW F way =
___ gmfwfem fsomsrasa

(A) TII 31 IRy % TeA =i |
(B) TR % gewizt |
(C) TTIA H T |
(D) TR A |

20

133. Match the following :

Frefoen = iR ¢
Tourist Circuit/ Area/
iz wfe aa
a. Brij Mewat - 1. Alwar-Bharatpur-
Circuit /S Sawai Madhopur/
am wihe - WA -5
TR
b. Shekhawati -~ 2. Ajmer-Pushkar-
Circuit / Merta-Nagaur/
GG I SR -~ Nl -
qihe iR
¢. Desert - 3. Churu-Sikar-
Circuit / Jhunjhunu /
% Hithe TE-H-gg,
d. Merwada - 4. Jodhpur-Jaisalmer-
Circuit / Bikaner-Barmer/
HrHTR-RTER
Codes / %2 :
a b ¢ d
A)3 2 1 4
B)4 2 3 1
)1 3 4 2
™21 4 3

134.

With reference to ancient' state of
Rajasthan what was ‘Kansa Parosa’ ?

(A) A type of Irrigation
{B} None of these

(C) A type of Tax _
(D) A type of Land
TSR Y S e & wed A
R o

(A) (a) R
B) T A HE T Y
(C) T YR H 1 (FN)

(D) 9f1 %1 & FFR

104C

138. Where is the cave of ‘Saint Peepa’ ?

(A) Peepar (B) Toda
(C) Dhanera - {ID) Gagron
T ifT hY T R 7

(A) g (B) @1
(C) = (D) WA

Which of the following Articles of Indian
Constitution is related with Executive
Power of Governor 7

(A) Article 142 (B) Article 154
(C) Article 171 (D) Article 158
e gfees o feafafga d @ s w

AT TAU I Brdarers wfeal @

TR R ?
(A) =T 142 (B) Fg=¢ 154
(D) 3q=BT 158

136.

137.

(C) =Bz 171

In 1947, Shekhawati Farmers Movement
ended on who's efforts ?

(A) Jamnalal Bajaj

(B) Jainarayan Vyas %
(C) Manikyalal Verma '

(D) Hiralal Shastri

Tt fram e T, 1947 A ﬁ»‘u‘%s
YTl & THTH £ 7

(A) TS 99 (B) IR =91y
(C) wrfoverrener &wi (D) Froremrer wrme
In which year Rajasthan School of Art
was established by Sawai Ram Singh-11 ?

(A) 1882 AD. (B) 1860 AD.
(C) 1857 A.D. (D) None of these

138.

TaTE qafiig-11 gR fre ad verer wen {
|
|

fererem &) g od 2
(A) 1882 j (B) 1860
(C) 1857 Y (D) T A wE T

104C
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139. Match List-I (Heritage) with List-II
{Place) and choose the correct answer
from the codes given below the lists :

_ List-1 List-1I -
. a Gajner Palace 1. Barmer
b. Kiradu Temple 2. Udaipur
c. Jag Tample 3. Bikaner
-1 (frtraa) 1 fi-11 () & wr
PemstsRkgm s MR feme
T I -
G -1
a. TR HEA . SIS
b. Rrarg mifet 2, IR
c. I HRR 3. drpET
Codes / %< :
a b ¢
A)2 t 3
B3 1 2
<©3 2 1
oyr 2 3
140. Who founded ‘Alakhia Sect’ ?
(A) Sant Dasji (B) Charan Das
(C) Swami Lal Giri (D) Bholanath
Fretiaar grrgre” f e feEr Y ¢
(A) Ha g (B) HrEE

(C) Tt e il (D) ey

141. Jogi caste of Alwar district play which of

the following instrument ?

(A) Rabaj (B) Bhapang

(C) Sarangi {D) Jantar

IR o F At sfa & Fw A 3 A
ERECEIK EIGE

(A) @ (B) ¥

(C) awit (D) F=R



142. The Govemor of Rajasthan, who dicd 1145

143.

144,

‘Which of the above statement/s is/are
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during their tenure ;

1. SX. Singh

2. Mrs. Prabha Rau
3. Nirmal Chand Jain
4. Darbara Singh’

B

TR F 3 Toaure R siee & |
o P gen
I wmH e 2 swhwmw
3, Prdmeed 4. zmw i
Codes /T : . :
(A) Only/Fast2  (B) 2,4 |

(C) 1,2,3,4 (D) Only/Faet |

The ‘Boo’ village of Nagaur was famous
ol ok

EB)) Mudlioys- _

(C) Thick cotton shawl e

(D) Hand made paper -

AR w1 ‘g 1y fea e w & g

wfag 2 ?

(A) L&

(B) F=h gt & flaeih

(©) ™ Th wim

(D) & e wrw

Consider the following statements :

1. The Lokayukta institution in Rajasthan
was established in the year 1973.

2. Justice LD, Dua was the first
Lokayukta of Rajasthan State.

correct ?

(A) Only 2 is correct. . .
(B) I & 2 are both true. !
(C) 1 & 2 are both wrong.
(D) Only 1 is correct.

ﬁnﬁma&%m‘tmﬁwaﬁ |
1. ORI # e g s ad 1973 !
o T R T e | !

2. Wﬂﬁ%@nmﬁw%!

|

IR & BT/ wu a2/ }
-

!

(A) Fae 2w R
(B) 1 W@ 231 Wl & |
(C) 108 2 Qi e § |

(D) %ot 1 T8 2 |

146.

22 .

Which of the following pairs is correct ?

Institution Establishment
(A) Rajasthan Sahitya — 1969
Academy
(B) Rajasthan Sangeet — 1957
Natak Academy
(C) Rajasthan Brij - 1982
Bhasha Academy
(D) Rajasthan Hindi — 1980
Granth Academy
faiasnamrymadi 2
TH T
(A) THH Gifge spredt  ~ 1969
(B) Ty arfta Tiee 3rpEHt — 1957
(C) TFIEA S WINT 3rehigll - 1982
(D) TIey™ ferd oe /gt ~ 1980

Which of the following options is the

correct chronological order of the tenure

of Chief Ministers of Rajasthan ?

{A) Shiv Charan Mathur — Jagannath
Paharia — Bhairon Singh Shekhawat
— Haridev Joshi

(B) Jagannath Pahatia ~ Bharion Singh
Shekhawat — Shiv Charan Mathur —
Haridev Joshi

(C) Shiv Charan Mathur — Haridev Joshi
-~ Jagannath Paharia — Bhairon
Singh Shekhawat

(D) Haridev Joshi — Bhairon  Singh
Shekhawat - Jagannath Paharia —
Shiv Charan Mathur

feffga i s v Rem wvem &

TG % SHTEhTCT W HIETHHTTER TE)

FHR?

(Ay FRra=ror W -~ Gm'n%:r TR -
it e - afea winft

(B) WY wEfem — AtifE YeEe -
Torererer wRp -~ gRew i

(C) T urp - gfee et — sy
TRife - $Rikig SE@ma

(D) wfea If — SifdiE Devaa — Frmy
PN N

104C

Lt b o g AR £k e e £

147.

148.

149.

wfafa % Ea A g

{C) Shravan Krishna Ashtami

The Chairperson and members of the
Rajasthan  State Human  Rights
Commission are appointed by the
Governor on the recommendation of a
High level committee. This committee is
headed by :

(A) Chief Minister

(B) Chairperson of State Legislature

(C) Chief Justice of Supreme Court

(D) Chief Justice of High Court :
UTEH T AHATRISR ST o STEAH

3f wewdli 1 g o 3= wlla gt
&1 wegfa gt asTrE g B I R W

(A) TEaws

(B) TS Trgm nvset & A9

(C) TEr= =R % T =iy
(D) T AT ¥ Y& R

‘Ashokashtami’ 1s celebrated on
(A) Chaitra Krishna Ashtami
(B) Baishakh Shukla Ashtami

(D) Chaitra Shukla Ashtami
“STRIRTEHY T STt R

(A) =3 o0 ITEH A

(B) 9T Y[F T BN

(C) et v sreeht i

(D) &7 YA e Y

Who was the first Chief Information I
Commissioner of the Rajasthan State 7 i
(A) Shri N.X. Jain
(B) Shri Amarjeet Singh |
(C) Shri M.D. Kaurani |
(D) Shri Indrajeet Khanna |
TSI U9 & oA e o1 ST i 2 7 |
(A) N AF. W |
B) it st fig |
(C) #ft wA. 2. Fwoft |
|

(D) ot F5fia wn

104C 23

150. Policy formulation is a joint effort in

which many organisations take part.
Match them :

a. Constitution 1. Important role in
policy formulation
b. Parliament 2. Chiefbody for policy

formulation

¢. Councilof 3. Indian Constitution

Ministers is the main source of
policies. Preamble
and Directive

Principles are its
inspirational sources.

Main policies of the
government are
approved by the
Parliament.

d. NITI Aayog 4.

| ifey fomfor we rgen yora B & Rret g

a TRy (, iy Foin 3§ Tt
b, T 2, Hifs fmior & fore &0
o
c. HhHesa 3.=ﬂﬁﬁwg@xa’m

wrdn o ®
ST R fewe
Rigra 385 YeTEa # |
d. fify s 4, v@R it gE ikt
TEg g Figdied
St £ |
Codes /2 :
8 b ¢ d
(A)3 4 2 1
@3 2 1 4
C) 2 1 3 4
1 4 3 2
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e fwron wer

121

WE F wE | W e &

122
123

124
125

126
127

128
129
130
131

132

133

134

135
136

137
138
139

140

141
142
143

144
145

146
147
148
149

150

weT &1 | W IR H
wH W | fawes s

91
92

93
94

95

96
97
98
99
100
101

102
103

104
105
106
107
108
109
110

111
112
113

114
115
116
117
118
119
120

wWear | fawew W

61

et @ w9 W SN W

62

63

64
65

66

67

68
69
70
71

72

73
74
75

76
77
78
79
80

81
82
83

84

85

86
87

88
89
90

v @ | wWél 9w @
wH Wt | fawor e

31

32

33
34
35

36

37

38

39
40

41

42

43

44

45

46

47

48
49

50

51
52
53

54
55

56

57

58

59
60

U I HH| WE 9T @
W e«

10
11
12
13

14
15
16
17
18
19
20

21
22
23
24
25

26
27
28
29
30
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